EAGRAROBREERT — 2 N— ABISH —F

202011 348 (k) 11ES#A2H

m YJSTREW (hREEFEE) C1 H7R—K \ (X4&] # \ [Emsml  — | & (@) 14000 &
[x&£] 1 %:300,000 3  2#%:69,000™ ~ 3#%&:30,000M  4%&:21,000”  53#&:15000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= s . 3 | EHES 1:29.7 7-7-6-7 | 37.9| — 1 478 | EFEE ()
1|\ =771 -> # &0 ) ) ﬂ'*f?"l/;(?kj)ln_—’f LIz (R)
L—5—Y9 T B:F4—J N7 7 — L
o > N A :30. —9-9- . — FEARB— (%A
olsls|xTvrILEF i 3 B 1(33?)3 8-9-9-5 |38.2 10 (4_725) e A
L:B2ALINT Ry TR B:TLEFTILAIN— biYatse ]
5 ft 3 | RTTR 1:30.3 2-2-2-2 | 39.4| — 5 446 | DNEE=EAR (S£HA)
317]7 K74 RNTLX 54.0 (7E) (-4) RESE
LNy vH—Ib 7T H—Ky K BN
B —Z f 3 | RERD 1:30.3 3-3-3-3 |39.4| — | 2 | 410 |FREEfANR (%) i
418110 54.0 (75%) Gy | @ egH-Tu—g-x. =4
L:T—WRI-X B:d—771 k91> FE%S
N — BRENF :30. —6-5- . - EIEREEL (BHR)
TLETNTAT #ORs gy | T @ M Il T e
LNy ¥ =l B:TO-RKIX2AIL N 45035
i ° . B4 | HAKIAEA 1:30.4 1-1-1-1 [39.6 | — 7 536 | hOEE={R (S242)
TJLARLA > 54.0 (74%) “7) | B mEss
LNy v =l B:TUF4T7TLT ARAINT7—L
N . REME : -84~ - REREER (S54R)
J—JWKILZb R (12310/29) Fhaa | %96 0 <4+717> GBS
L:XZXF BO-LFLU-—U2Z A—L— 4N - T7p—LARSE
- i S . > 3 | BEH 1:31.0 5-4-7-9 |39.3| — 3 499 | EEEBSEL (SEHR)
——RIWTIvY “ 7 50 (3/4) @7y | (B M RAI
L:€r/07084 B:RU—-LIYTLL RS
BEFF AR : -5-8- — HOEEZ (%)
Frl—bws i 3 S 1.(311).2 4-5-8-8 | 39.7 4 35) oty &
LT/ —*/ B:H—I—HU52 K /A7 NI 1T
SN FIESTE :31. -10-10- . — REEE— (%)
2HLFELR #H 3 ot 1(13/12)3 10-10-10-10| 38.3 9 (4_721) 7 A
RIET7XAT7 BRUWNFST—L ®Il -
® 1 —F—@EBIERL
1T=7r= 6,7,10,3,2,4,1,5,8,9
2a=5"= 6,7,10,2,3,4,1,8,5,9
Ja=9= 6,7,10,8,4,1,2,3,5,9
43—+ — 6,7,10,8,5,4,1,3,2,9
[ /N
B 1 110 714K 1-5 2,420 B 1-5 3,510M JEE 1-5-7 14,350
B B 1 1004 1-7 410 B = 1-5 3,860 3B =1/ 42,2004
5 750M 5-7 8,860 B H 1-5 5,510M
7 270M

ARICOVWTRDTEEERROODE. TR LI,




